NEWALL i
Planer Mill Bracket Kit

Part # FXOOPMBR

Spherosyn scale mounting kit for scales over 100” of travel.
This kit is intended for installations where the scale is moving
and the Reader Head is stationary. Reader Head bracket kits

sold separately.

Kit # 600-80150

294-23170
Split Scale Support
Clamp (2) M8 x 40 Cap Head Screw (4)
ED-3133
Angle (2) M6 x 35 Cap Head Screw (2)
M8 Washer (4)

Kit # 600-80160

M6 x 20 Cap Head Screw (2)
M6 Washer (2)

ED-2768-01
294-80470
Angle bracket (1) Heavy Duty Angle
Bracket with Teflon
Pad (1)

Some modification of bracketry may be necessary during installation.

NUSA_011305



NEWAL Bracket Drawings
Planer Mill Bracket Kit
Part # FXOOPMBR

ED-3133 294-23170

DRILL #6.5 & COUNTERBORE #10.5 x 6.5 DEEP.

w00
0
M5 x 15 DEEP
3 50.0 250 19.0 M6 THRO.
|

| ! !

i A 25.0
' | : } i 1 | - B oau-”—» >

M o

T o™

.
LI
L\ WY L
LLLLLLLL 9D WDE ‘
‘8.0 34.0
$15.24/15.27

R1.0

15

30.0

\2 HOLES M8 THRO.

294-80470 ED-2768-01

50.8(2")

1

34.0

16

25

50.8(2")
9.5(3/8")

®) il N j
e 2 HOLES DRILL —
& TAP 9 M6
4 ©
i I & ﬂ - J 7
i il i
|

ED-2768-10
HEAVY DUTY TARPED ANGLE A
25

NUSA_011305



NEWAL

Assembly Drawing
Planer Mill Bracket Kit
Part # FXOOPMBR

THESE SCREWS %
& WASHERS ARE N

NOT SUPPLIED
IN KIT.

THIS ASSEMBLY 1S MOUNTED
TO MOVING BED OF MACHINE.

ED-3133 LONG SCALE MOUNT — 2 294-80470 HEAVY DUTY ANGLE ASSEMBLY - !

t B MBx20 SCREW - 2
M6x35 SCREW — 2 M6 FLAT WASHER - 2

M8x40 SCREW - 4
Mg FLAT WASHER - 4

294-23170 SPUIT SUPPORT BLOCK - 2

THIS ASSEMBLY IS MOUNTED
TO FIXED PART OF MACHINE.

ED-2768-01 TAPPED ANGLE - 1

NUSA_011305



